Adding Z—Digif Numbers
Crossing |0

5+ 6 = 2. |8 + 3 =
5 + 6 = I8 + 3 =
LS + 6 = 38 + 3 =
65 + 6 = 18 + 3 =
6 + & = Lo |7 + 5 =
6 + & = [7 + 5 =
Lo + & = 6/ + 5 =
96 + 8 = 8§/ + 5 =
5+ 9 = 6. |6 + / =
5 + 9 = 6 + ] =
5 + 9 - Lo + ] =
85 + 9 = 16 + ] =
9 + 3 = § |L + 9 =
19 + 3 = [+ 9 =
59 + 3 = 5L+ 9 =
9 + 3 = b+ 9 =
/I + & = [0. 15 + & =
7 + & = [5 + & =
50 + & = 65 + & =
97 + 8 = 8§85 + § =




Adding Z—Digif Numbers
Crossing [0 Answers

54+ 6 = 1] 2. |8 + 3 =11l

5 + 6 = 71 I8 + 3 = 71
L5 + 6 = 51 38 + 3 = LI
65 + 6 = /| /8 + 3 = &I
6 + & = |k L. |7 + 5 =12

6 + 8§ = 2L ['7 + 5 = 27
Lo + & = 5k 6/ + 5 =77
96 + 8§ = |0k 8§/ + 5 = 927
5+ 9 = [k 6. |6 + 7 = I3

5 + 9 = 2L 6 + /] = 23
50 + 9 = bk L6 + 1 = 53
85 + 9 = 9L /6 + /1 = &3
9 + 3 = 17 § | L+ 9 = 13

19 + 3 = 77 [+ 9 = 73
59 + 3 = 62 5 + 9 = 63
9 + 3 = 9L b+ 9 = §&3
/[ + 8 =15 0. |5 + & = |3

[7 + &8 = 25 5 + 8§ = 73
5/ + & = 65 65 + & = /3
997 + & = 105 &8 + & = 93




